
N = 1705
1705 circles in a circle

radius =   0.022662207416
ratio  =  44.126328104943

density  = 0.875646474630
contacts = 4293

 E.SPECHT
21-APR-2014

N = 1706
1706 circles in a circle

radius =   0.022652949692
ratio  =  44.144361488519

density  = 0.875444357377
contacts = 4362

 E.SPECHT
21-APR-2014

N = 1707
1707 circles in a circle

radius =   0.022646076827
ratio  =  44.157758874504

density  = 0.875426066217
contacts = 4224

 E.SPECHT
22-APR-2014

N = 1708
1708 circles in a circle

radius =   0.022640394471
ratio  =  44.168841726581

density  = 0.875499384729
contacts = 4371

 E.SPECHT
22-APR-2014

N = 1709
1709 circles in a circle

radius =   0.022630118398
ratio  =  44.188898282681

density  = 0.875216940106
contacts = 3292

 E.SPECHT
22-APR-2014

N = 1710
1710 circles in a circle

radius =   0.022623283162
ratio  =  44.202249198182

density  = 0.875200129144
contacts = 4304

 E.SPECHT
23-APR-2014

N = 1711
1711 circles in a circle

radius =   0.022622667072
ratio  =  44.203452971050

density  = 0.875664246991
contacts = 4281

 E.SPECHT
19-APR-2014

N = 1712
1712 circles in a circle

radius =   0.022611348318
ratio  =  44.225580268449

density  = 0.875299500534
contacts = 3202

 E.SPECHT
20-APR-2014

N = 1713
1713 circles in a circle

radius =   0.022603604660
ratio  =  44.240731291992

density  = 0.875211002442
contacts = 4264

 E.SPECHT
20-APR-2014

N = 1714
1714 circles in a circle

radius =   0.022599909272
ratio  =  44.247965244193

density  = 0.875435611081
contacts = 3581
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20-APR-2014

N = 1715
1715 circles in a circle

radius =   0.022588561073
ratio  =  44.270194845757

density  = 0.875066901686
contacts = 3889

 E.SPECHT
21-APR-2014

N = 1716
1716 circles in a circle

radius =   0.022582218485
ratio  =  44.282628858753

density  = 0.875085511402
contacts = 3398

 E.SPECHT
21-APR-2014


